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1. fdlh f=Hkqt ABC esa ;fn 2 2 2b c a   rks tan A  +
tan C dk eku gksxk %

(a) Tan B (b) Tan A. Tan C

(c)
b
ac (d)

2b
ac

2. ;fn  ,A     rks A  ds fdl eku ds fy,

lehdj.k 
2sin 1 cos sin

1 cos sin 1 sin
A A A

A A A
 


  

lR; gksxk %

(a) ds lHkh ekuksa ds fy,

(b) A ds lHkh ekuksa ds fy, flok; 2
A 
 

(c) A ds lHkh ekuksa ds fy, flok; A = 0

(d) A ds lHkh ekuksa ds fy, flok; 2
A 


3. 3 Tan ( – 15) = Tan ( + 15) dk O;kid gy
gksxk %

(a) 4
n   (b) 2

4
n  

(c) 4
n   (d) 2

4
n  

4. ;fn fdlh cgqHkqt n dh Hkqtk,¡ gSaA ;fn blds vkUrfjd

x0 gSA ;fn Hkqtkvksa dks 2 ls c<+k;k tk;s rks

izR;sd dks.k dk eku 
80
7

x  
 

 ls c<+ tkrk gS] rks
n dk eku gksxk %
(a) 5 (b) 7
(c) 9 (d) 10

1. In an triangle ABC, 2 2 2b c a   then which is
the value of tan A + tan C :
(a) Tan B (b) Tan A. Tan C

(c)
b
ac (d)

2b
ac

2. If  ,A    . For what value of A, is the

identity 2sin 1 cos sin
1 cos sin 1 sin

A A A
A A A

 


  
 is

true :
(a) All values of A

(b) All values of A excepts 2
A 
 

(c) All value of A except A = 0

(d) All values of A except 2
A 


3. The general solution of 3 Tan ( – 15) =
Tan ( + 15)

(a) 4
n   (b) 2

4
n  

(c) 4
n   (d) 2

4
n  

4. A certain regular polygon has n sides. The
measure of any of its interior angle is x0. If the
number of sides is increased by 2. Each of interior

angles become 
80
7

x  
 

 the value of n is :

(a) 5 (b) 7
(c) 9 (d) 10

PART - I
MATHS
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5.            

Nk;kafdr Hkkx D;k iznf”kZr djrk gS %

(a)      P Q P R  

(b)    P Q R P R Q    

(c)    P Q R P R Q    

(d)      P Q R P Q R    

6. ekuk  1 2 3 4, , ,P p p p p
         1 2 3 4, , ,Q q q q q
         1 2 3 4, , ,R r r r r
;fn S10 =   , , : 10i j kp q r i j k  

S10 esa rRoksa dh la[;k gksxh %

(a) 2 (b) 4
(c) 6 (d) 8

7.   cos 2 sin 2f x x x   dk ifjlj gksxk %

(a) [2, 4] (b) [–1, 1]
(c) [ 2, 2 ] (d) ( 2, 2 )

8. ;fn 1z  vkSj 2z  nks lfEeJ la[;k gS rFkk

1 2
1 2

1 1 2z z
z z

     rks 1 2 ?z z 

(a) 8 (b) 4
(c) 2 (d) 1

5.            

What does the shaded portion of venn diagram
represent

(a)    P Q P R  

(b)    P Q R P R Q    

(c)    P Q R P R Q    

(d)      P Q R P Q R    

6. Let  1 2 3 4, , ,P p p p p
       1 2 3 4, , ,Q q q q q
       1 2 3 4, , ,R r r r r
If S10 =   , , : 10i j kp q r i j k  

How many elements have S10 :
(a) 2 (b) 4
(c) 6 (d) 8

7. The range of   cos 2 sin 2f x x x 

(a) [2, 4] (b) [–1, 1]
(c) [ 2, 2 ] (d) ( 2, 2 )

8. Let 1 2,z z  are two complex no. such that

1 2
1 2

1 1 2z z
z z

     then 1 2 ?z z 

(a) 8 (b) 4
(c) 2 (d) 1

P

Q

R P

Q

R
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9. ;fn 
3 3 1

2 2 2 2

p q
i i   
          

   
 rks fuEu esa

dkSu lh p vkSj q dk eku gksxk %
(a) 982, 1160 (b) 829, 1061
(c) 892, 1106 (d) 928, 1016

10. ;fn 1 2,z z  nks lfeJ la[;k,¡ gSa 1 2 1 2z z z z  
rks fuEu esa D;k lgh gS %

(a) 1 2z kz  tgk¡ k R

(b) 1 2z z

(c) 1 20, 0z z 

(d) 1 2z z

11. fuEu Js.kh dk ;ksxQy D;k gksxk %
1 1 . 3 1 . 3 . 51 ..........
8 8 . 16 8 . 16 . 24

    

(a)
2
3 (b) 2 3

(c)
3

2
(d)

1
2 3

12. ;fn a, b, c xq.kksŸkj Js.kh esa gks rFkk a, 2b, 3c lekarj
Js.kh esa gks] rks lkokZuqikr r gksxk %

(a)
1
3 (b)

1
2

(c)
1
2 (d)

1
8

9. If 
3 3 1

2 2 2 2

p q
i i   
          

   
 , then which

among the following can be value of p and q :
(a) 982, 1160 (b) 829, 1061
(c) 892, 1106 (d) 928, 1016

10. If 1 2,z z , are any two complex no. such that

1 2 1 2z z z z    then which one of the
following is correct :

(a) 1 2z kz  where k R

(b) 1 2z z

(c) 1 20, 0z z 

(d) 1 2z z

11. What is the sum of following series :
1 1 . 3 1 . 3 . 51 ..........
8 8 . 16 8 . 16 . 24

    

(a)
2
3 (b) 2 3

(c)
3

2
(d)

1
2 3

12. If a, b, c are is geometric progression and a, 2b, 3c
are in arithmetic progression then common ratio
r is :

(a)
1
3 (b)

1
2

(c)
1
2 (d)

1
8
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13. If a, b, c, d are in H.P. such that a > b, then
which relation in the following is correct :

(a) a c b d   (b) a c b d  

(c) ac bd (d) ad bc

14. The number of rows in a hall is equal to the no.
of seats in a row. If a no. of rows is doubled and
the no. of seats in every row is reduced by 10,
the no. of seats is increased by 300. If x denotes
the no. of rows in lecture hall then x will be :
(a) 10 (b) 15
(c) 20 (d) 30

15. If x is real and 2 3 2 0,x x    2 3 4 0x x  
then which of the following is correct :
(a) 1 4x  
(b) 2 4x 

(c) 1 1x  
(d) 1 , 1 2 4x or x    

16. If  &  are  the roots of eqn. 2 1 0x x  
then which of the following are the roots of
equation 2 1 0x x  
(a) 7 13,  (b) 13 7, 
(c) 20 20,  (d) None

17. Which is the image of the point (1, 2) on the line
3 4 1 0x y  

(a)
7 6,
5 5

   
 

(b)
7 1,
8 2

 
 
 

(c)
7 1,
8 2

  
 

(d)
7 6,
5 5

  
 

13. ;fn a, b, c, d gjkRed Js.kh esa gks] tgk¡ a > b, rks
fuEu esa dkSu lk lEcU/k lR; gS %

(a) a c b d   (b) a c b d  

(c) ac bd (d) ad bc

14. fdlh d{k esa iafDr;ksa dh la[;k rFkk dqflZ;ksa dh
la[;k leku gSA ;fn iafDr;ksa dks nqxuk dj ns vkSj
gj iafDr ls 10 dqflZ;ka de dj nh tk;sa rks dqflZ;ksa
dh la[;k 300 c<+ tkrh gSA ;fn x iafDr;ksa dh
la[;k dks n”kkZ;sa rks x gksxk %
(a) 10 (b) 15
(c) 20 (d) 30

15. ;fn x okLr fod g S  r Fk k 2 3 2 0,x x  
2 3 4 0x x    rks fuEu esa D;k lR; gS %

(a) 1 4x  

(b) 2 4x 
(c) 1 1x  
(d) 1 , 1 2 4x or x    

16. ;fn    2 1 0x x    ds e wy gk s a ]  rk s
2 1 0x x    ds ewy fuEu esa D;k gksaxs %

(a) 7 13,  (b) 13 7, 

(c) 20 20,  (d) dksbZ ugha

17. fcUnq ¼1] 2½ dk js[kk 3 4 1 0x y    ij izfrfcEc
gksxk %

(a)
7 6,
5 5

   
 

(b)
7 1,
8 2

 
 
 

(c)
7 1,
8 2

  
 

(d)
7 6,
5 5

  
 
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18. fc Un qvk s a   2 2 , 0b a   l s ljy j s[ k k

cos sinax by ab    dh yEc nwfj;ks a dk
xq.kuQy gksxk %

(a) 2a (b) 2b

(c) ab (d)
a
b

19. ml js[kk dk lehdj.k tks js[kkvksa 1x y
a b
   rFkk

1x y
b a
   ds dVku fcUnq rFkk ewy fcUnq dks

feykrk gks %

(a) 0x y  (b) 1 0x y  
(c) 0x y  (d) 2 0x y  

20. x-v{k ls fcUnq (x, y) dh yEc nwjh gksxh %

(a) x (b) y
(c) x (d) y

21. ekuk :f R R  ifjHkkf’kr djrk gS] tgk¡
   sinf x x  rks fuEu esa D;k lR; gS %

(a) f,  0 ij vodyuh; ugha gksxk
(b) f,  0 ij vodyuh; gksxk

(c) f  gj txr vodyuh; gksxk
(d) dksbZ ugha

22. ;fn      0f x x x x   0x x  ij lrr~ gks]
rks  0f x  cjkcj gksxk %

(a)  0' x (b)  0x

(c)  0 0x x (d)  02 x

18. What is the product of perpendiculars from the

two points  2 2 , 0b a   to the line

cos sinax by ab  

(a) 2a (b) 2b

(c) ab (d)
a
b

19. If the equation to the straight line joining the

origin to the intersection of line 1x y
a b
   and

1x y
b a
   then equation will be :

(a) 0x y  (b) 1 0x y  

(c) 0x y  (d) 2 0x y  

20. The perpendicular distance of the point (x, y)
from x-axis :
(a) x (b) y
(c) x (d) y

21. Let :f R R  be defined as :    sinf x x
Which of the following is correct :
(a) f is not differentiable only at 0
(b) f is differentiable only at 0
(c) f is differentiable every where
(d) None

22. If      0f x x x x   is continuous at 0x x
then  0f x  is equal to :

(a)  0' x (b)  0x

(c)  0 0x x (d)  02 x
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23. ekuk  
2

1
18

f x
x




rks    
3

3lim ?
3x

f x f
x






(a) 0 (b)
1
9



(c)
1
3 (d)

1
9

24. ;fn   22sin , ,yy x z e t z    rks ?dt
dx



(a)
xyz
t (b)

2xyz
t  cos x2

(c)
 2xyz x

t


(d) 2cos
xyz t

x

25. ,d d.k fdlh [kks[kys xksys ftldh f=T;k r gS] ds
Hkhrj tkrk gSA rks izkf;drk Kkr djsa fd lrg ls
dsUnz ds chp d.k tkrk gS %

(a)
1
2 (b)

1
4

(c)
1
6 (d)

1
8

23. Let  
2

1
18

f x
x




 then     
3

3lim ?
3x

f x f
x






(a) 0 (b)
1
9



(c)
1
3 (d)

1
9

24. If   22sin , ,yy x z e t z    then ?dt
dx



(a)
xyz
t (b)

2xyz
t  cos x2

(c)
 2xyz x

t


(d) 2cos
xyz t

x

25. A particle moves randomly inside a hollow sphere
of radius r. What is the probability that is nearer
to the centre than to surface.

(a)
1
2 (b)

1
4

(c)
1
6 (d)

1
8

SCIENCE
26. Electric field at a place found to be independent of

distance from charged body. The charged body is :
(a) Point charge
(b) Electric dipole
(c) A line charge
(d) A sheet charge

26. fdlh LFkku ij oS|qr {ks= vkosf”kr oLrq ls nwjh ls
vizHkkfor ik;k x;kA vkosf”kr oLrq gS %
(a) fcUnq vkos”k
(b) oS|qr f}/kzqo
(c) js[kh; vkos”k
(d) vkos”k dh lery pknj
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27. Value of current i in the circuit will be :

R

E

E

i

(a)
2E
R (b)

E
R

(c) 2
E
R (d) None of these

28. If 8 similar charged drops combine to form a
bigger drop, then the ratio of capacitance of
bigger drop to that of smaller drop will be :
(a) 2 : 1 (b)  8 : 1
(c) 4 : 1 (d)  16 : 1

29. Inductive reactance of a coil in D.C. circuit will
be :
(a) 1 
(b) 0 
(c) 
(d) any value in between 0 and 

30. Electric field is found to be proportional to 1
r

where r is the distance from body. The charge body
is :
(a) Line charge
(b) Sheet charge
(c) Solid sphere
(d) Hollow sphere

27. ifjiFk esa /kkjk i dk eku gksxk %

R

E

E

i

(a)
2E
R (b)

E
R

(c) 2
E
R (d) buesa ls dksbZ ugha

28. ;fn 8 vkosf'kr leku cwanksa dks feykdj ,d cM+h
cwan cukbZ tk; rks cM+h cwan rFkk NksVh cwan dh
Hkkfjrkvksa esa vuqikr gksxk&
(a) 2 : 1 (b)  8 : 1
(c) 4 : 1 (d)  16 : 1

29. fdlh dq.Myh dk fn’V /kkjk ifjiFk esa izfrjks/k
gksxk %
(a) 1 
(b) 0 
(c) 
(d) 0 and   ds chp dksbZ Hkh eku

30. oS|qr {ks= 1
r
 ds lekuqikrh gS tgk¡ r fi.M ls nwjh

gSA vkosf'kr fi.M gS&

(a) js[kh; vkos'k

(b) leryh; vkos'k

(c) Bksl xksyk

(d) [kks[kyk xksyk
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31.        

l l

A A1 2

nks leku yEckbZ rFkk nks leku vuqizLFk dkV fdUrq
vyx&vyx fof'k"V izfrjks/k 1  ,oa 2  okyh nks NM+ksa
dks Åij fn[kk;s x;s fp= ds vuqlkj tksM+k x;k gSA
latkstu izHkkoh fof'k"V izfrjks/k fdruh gS\

(a) 1 2

1 2

 
  

(b)  1 2

2
  

(c) 1 2  (d)  
1 2

1 22
 
 

32. ,d oR̀rkdkj rkj ABC rFkk ,d lh/kk pkyd rkj
ADC ftuesa I /kkjk cg jgh gSA pqEcdh; {ks= B esa j[ks
x;s gSa rks fcUnqvksa A rFkk B ij fopkj djus ij&

               D

I



I

B
C

A

x

x

x

x

x

x

x

x

x

xx

x

x

x

x

x

x x

x

x

x

x

x

x

x

x

x

x

x

(a) ABC ij ADC dh vis{kk vf/kd cy yxrk gS

(b) ABC ij ADC dh vis{kk de cy yxrk gS

(c) ABC ij ADC ds cjkcj cy yxrk gS
(d) (1) ;k (2) ;k (3) esa ls dksbZ Hkh

33. Js.kh LCR ifjiFk esa R = 10W rFkk izfrck/kk
Z = 20WA /kkjk rFkk foHko ds chp dykUrkj D;k
gksxk\
(a) 300  (b) 450

(c) 900 (d) 600

31.          

l l

A A1 2

Two rods having equal lengths and equal cross-
sections but different specific resistances 1 and

2  are joined at one end as shown in the figure
given above. What is the effective specific
resistance of the combination?

(a) 1 2

1 2

 
  

(b)  1 2

2
  

(c) 1 2  (d)   
 

1 2

1 22
 
 

32. A circular wire ABC and a straight conductor
ADC are carrying current I and are kept in the
magnetic field B. Considering points A and C:

D

I



I

B
C

A

x

x

x

x

x

x

x

x

x

xx

x

x

x

x

x

x x

x

x

x

x

x

x

x

x

x

x

x

(a) force as per ABC is more than ADC
(b) force as per ABC is less than ADC
(c) force as per ABC is equal to that as per ADC
(d) any of (1) or (2) or (3)

33. In a series LCR circuit R = 10W and impedance
Z = 20W. Then the phase difference between the
current and the voltage is :
(a) 300 (b) 450

(c) 900 (d) 600
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34. ,d nhokj ls Å/okZ/kj yVds gq, d pkSM+kbZ ds ,d niZ.k
ds e/; fcUnq ds lkeus L nwjh ij ,d izdk'k dk fcUnq
lzksr B fLFkr gSA niZ.k ls 2L nwjh ls niZ.k ds lekUrj
fdlh js[kk ds vuqfn'k ,d vkneh py jgk gS tSlk fd
fp= esa fn[kk;k x;k gSA vf/kdre nwjh ftlds ckn og
izdk'k lzksr dk izfrfcEc nksuksa niZ.kksa esa ns[k ldrk gSA

                      

d

L
2L

(a) d/2 (b) d
(c) 2d (d) 3d

35. layXu fp= esa ;fn izfrjks/k R3 gVk fy;k tk; rks
cYc dh iznhfIr %

R1

R2 R3

(a) c<+ tk;sxh
(b) ?kV tk;sxh
(c) vifjofrZr jgsxh
(d) buesa ls dksbZ ugha

36. fdl vk;u ds ikl d-midks”k esa v;qfXer bysDVªkuksa
dh la[;k T;knk gS%
(a) Zn+ (b) Fe+2

(c) Ni+3 (d) Cu+1

34. A point source of light B is placed at a distance
L  in front of the centre of a mirror of width d
hung vertically on a wall. A man walks in front
of the mirror along a line parallel to the mirror at
a distance 2L from it as shown. The greatest
distance over which he can see the image of the
light source of  mirror is :

d

L
2L

(a) d/2 (b) d
(c) 2d (d) 3d

35. In following circuit if resistance R3 ismoved
brightness of Bulb will :

R1

R2 R3

(a) increase
(b) decrease
(c) remain same
(d) none of these

36. Which of the following has more unpaired
d-electron :
(a) Zn+ (b) Fe+2

(c) Ni+3 (d) Cu+1
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37. blesa dkSu DokuVe la[;k dk leqPp; lgh ugha
gS %
(a) n = 3,   m = –2,   S = + 1/2
(b) n = 4,   m = 3,     S = + 1/2
(c) n = 5,   m = 2,     S = + 1/2
(d) n = 3,   m = –3,   S = + 1/2

38. blesa ls fdl vk;u dk ca/k dksfV 2-5 ugha
gS%
(a) 2O (b) 2O

(c) 2N  (d) 2N 

39. lgla;ksth ;kSfxd dh rqyuk esa oS|qr la;kstd ;kSfxd
j[krs gSa %
(a) mPp xyukad vkSj fuEu DoFkukad
(b) fuEu xyukad vkSj mPp DoFkukad
(c) mPp xyukad vkSj mPp DoFkukad
(d) fuEu xyukad vkSj mPp DoFkukad

40. tyh; foy;u esa gksrk gS %
(a) H+ (b) OH+

(c) H3O
+ (d) H2

41. vk;lksMk;kQj ijek.kq ds ikl gksrk gS %
(a) P/N fu;r (b) P–N  fu;r
(c) (N–P) fu;r (d) N–P fHkUu&fHkUu

42. dkSu lk dFku vkn”kZ xSl ds ckjs esa lgh ugha gS %

(a) bls nzo esa ugha cnyk tk ldrk gS

(b) buds v.kqvksa ds chp vkd’kZ.k cy ugha yxrk gS

(c) xSl ds lHkh v.kq ,d gh osx ls xfr djrs
gSa

(d) fn;s x;s rkieku ij PV, xSl dh ek=k ds
lekuqikrh gksrk gSA

37. Which of the following set of quantum number
is not possible :
(a) n = 3,   m = –2,   S = + 1/2
(b) n = 4,   m = 3,     S = + 1/2
(c) n = 5,   m = 2,     S = + 1/2
(d) n = 3,   m = –3,   S = + 1/2

38. Which of the following ion has not bond order
value of 2.5 :
(a) 2O (b) 2O

(c) 2N  (d) 2N 

39. As compared to covalent compounds electro
valent compound generally have :
(a) High m.p. and low b.p.
(b) Low m.p. and high b.p.
(c) High m.p. and high b.p.
(d) Low m.p. and high b.p.

40. Aqueous solution contains:
(a) H+ (b) OH+

(c) H3O
+ (d) H2

41. Isodiapher atoms having
(a) P/N constant (b) P–N constant
(c) (N–P) constant (d) N–P different

42. Which is not true in case of ideal gas:
(a) It can not be converted into liquid
(b) There is not intraction between the

molecules
(c) All molecules of the gas move with same

speed
(d) At a given temperature PV is proportional

to the amount of gas
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43. The representing the correct order of ionic
radius is :
(a) 2 2Mg Be Li Na     
(b) 2 2Li Be Na Mg     

(c) 1 2 2Na Li Mg Be     
(d) 2 2Li Na Mg Be     

44. Which one among the following nitrogen
compound has the least percentage of nitrogen
by mass
(a)  4 43NH PO (b) 3NH
(c) 4NH OH (d) 4 3NH NO

45. The orbital angular momentum for an electron

revolving in an orbit is given by  1
2
hl l 


. This
momentum for an S-electron will be given by

(a)
1 .
2 2

h



(b) zero

(c) 2
h


(d) 2 .
2
h


46. If kidney fails to reabsorb water the tissues would
(a) Remain inaffected
(b) Shrink to shrivel
(c) Absorb water from blood
(d) Take more oxygen from blood

47. Rate of photosynthesis is maximum in
(a) Cloudy weather
(b) Shiny weather
(c) Intermittent cloudy and sunny weather
(d) Foggy weather

43. vk;fud f=T;k dk dkSu lk Øe lgh gS %

(a)  2 2Mg Be Li Na     

(b) 2 2Li Be Na Mg     
(c) 1 2 2Na Li Mg Be     

(d) 2 2Li Na Mg Be     

44. fdl ukbVªkstuh ;kSfxd esa ukbVªkstu dh izfr”kr
ek=k lcls de gS %

(a)  4 43NH PO           (b) 3NH
(c) 4NH OH (d) 4 3NH NO

45. ,d bysDVªku ,d d{kk esa ?kwe jgk gSA d{kh; dks.kh;

laosx  1
2
hl l 

 gSA S-bysDVªku ds fy, dks.kh;

laosx dk eku gksxk %

(a)
1 .
2 2

h



(b) “kwU;

(c) 2
h


(d) 2 .
2
h


46. ;fn xqnsZ ty dk iquZvo”kks’k.k djus esa vlQy gks
tk, rks dksf”kdk,a %
(a) vizHkkfor jgsaxh
(b) lw[kdj fldqM+ tk,xh
(c) jDr ls ty vo”kksf’kr djsxh
(d) jDr ls T;knk ek=k esa vkDlhtu xzg.k djsaxh

47. izdk”k la”ys’k.k dh nj muesa ls fdl voLFkk esa
pje ij gksxh%
(a) es?k vkPNkfnr ekSle esa
(b) vuojr rst pednkj jkS”kuh esa
(c) vkPNkfnr ,oa pednkj /kwi ls vUrfuZfgr ekSle esa
(d) dksgjs okys ekSle esa
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48. Which of the statements abut lymph is
incorrect :
(a) Lymph consists of lymphocytes which kills

germs and protect the human body from in-
fections

(b) Lymph carries digested and absorbed fat
from intestine

(c) It drains excess fluid from extra-cellular
space back into the blood

(d) Its flow is bidirectional i.e. from Tissue 
lymphcapllaries   veins    heart and vice
versa

49. The organ systems that help us maintain
homeostasis in human body are :
(a) Circulatory and Respiratory
(b) Respiratory and Excretory
(c) Circulatory and Excretory
(d) Respiratory and Nervous

50. Assertion and Reason :
Assertion (A) : Bile is essential for fat digestion
Reason (R) : Fats cannot be digested without
use the following key to choose the appropriate
answer
(a) Both Assertion (A) and Reason (R) are true

and (R) is the correct explanation of (A)
(b) Both Assertion (A) and Reason (R) are true

but (R) is not the correct explanation of (A)
(c) Assertion (A) is true but Reason (R) is false
(d) Reason (R) is true but Assertion (A) is false

48. yfldk ds lac a/k es a dkSu lk dFku vlR;
gS %
(a) yfldk] yfldk dksf”kdkvksa ls curh gS] tks

dhVk.kqvksa ls yM+us esa lgk;d gS] ,oa ekuo
“kjhj dks laØe.k ls cpkrh gS

(b) yfldk esa vkar }kjk vo”kksf’kr rFkk ikfpr
olk gksrh gS

(c) ;g vfrfjDr Årdh; Luk;q ls nzo fu’dkflr
dj mls iqu% jDr esa Hkstrh gS

(d) ;g nksgjh fn”kk esa izokfgr gksrh gS ;kfu
dksf”kdk      yfldk  ufydk,¡  ul


dksf”kdk yfldk ufydk,¡ ul ân;

49. “kjhj esa leLFkkiu larqyu dh fLFkfr cuk, j[kus esa
enn djus okyh vax iz.kkyh gS %
(a) jDr lajpj.k ,oa “olu iz.kkyh
(b) “olu ,oa fu’dklu iz.kkyh
(c) jDr lapkj.k ,oa fu’dklu ra=
(d) “olu ,oa Luk;q ra=

50. vfHkdFku (A) : fiŸk olk ds ikpu gsrq vko”;d
gSA

dkj.k (R) : olk dk ik;lhdj.k fd, cxSj mldks
ipkuk laHko ugha gS %

(a) (A) rFkk (R) nksuksa lR; gSa vkSj (R), (A) dh
lgh O;k[;k gS

(b) (A) rFkk (R) nksuksa lR; gSa ij (R), (A) dh
lgh O;k[;k ugha gS

(c) (A) lR; gS ijUrq (R) vlR; gS

(d) (R) lR; gS ijUrq (A) vlR; gS
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51. cg̀n Lukukxkj fdl LFky ij ik;k tkrk gS\

(a) eksgutksnM+ks (b) gM+Iik

(c) yksFky (d) dkyhcaxk

52. ^lR;eso t;rs* dgk¡ ls fy;k x;k gS\

(a) eq.Mdksifu’kn

(b) blksifu’kn

(c) NUnksX; mifu’kn

(d) og̀nkj.;d

53. dkSu lqesfyr ugha gS %

(a) esxLFkuht&pUnzxqIr ekS;Z

(b) Qkg;ku&pUnzxqIr f}rh;

(c) g~ossulakx&g’kZo/kZu

(d) okLdksfMxkek&vdcj

54. lwph I dks lwph II lss lqesfyr dhft, %

lwph-I lwph-II

(A) fo”kk[knŸk 1- fpfdRlk

(B) cjkgfefgj 2- ukVd

(C) pjd 3- [kxksy foKku

(D) czºexqIr 4- xf.kr

A B C D A B C D

(a) 1 3 4 2 (b) 2 1 3 4

(c) 2 3 1 4 (d) 3 4 1 2

51. Large Bathing places were found in?

(a) Mohanjodaro (b) Harappa

(c) Lothal (d) Kalibanga

52. ‘Satyamev Jayate’ slogan has been taken from?

(a) Mundakopnishad

(b) Isopanishad

(c) Chandogya Upanishad

(d) Vrihadaranyak

53. Which of these is incorrecly matched :

(a) Megasthenes—Chandragupt maurya

(b) Fahein—Chandragupta-II

(c) Hwensang—Harshavardhan

(d) Vasco-de-Gama—Akbar

54. Match the List-I with List-II :

List-I List-II

(A) Vishakhadutt 1. Treatment

(B) Varamihir 2. Play

(C) Charak 3. Astrology

(D) Brahmgupt 4. Mathematics

A B C D A B C D

(a) 1 3 4 2 (b) 2 1 3 4

(c) 2 3 1 4 (d) 3 4 1 2

PART - II
GENERAL AWARENESS
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55. fuEufyf[kr dk feyku dhft, %

(A) vehj [kqljks  1- fQjkst “kkg rqxyd
(B) ft;kmn~nhu cuhZ  2- bYrqrfe”k
(C) bCucrwrk 3- vykmn~nhu f[kyth
(D) feugkt fljkt  4- eks- fcu rqxyd

A B C D A B C D
(a) 3 1 4 2 (b) 3 2 1 4
(c) 3 4 2 1 (d) 1 2 4 3

56. eqxy “kkldksa dk lgh dkykuqØe D;k gS %

(a) ckcj] gqek;w¡] vdcj] “kkgtgk¡] tgk¡xhj

(b) ckcj] gqek;w¡] vdcj] tgk¡xhj] “kkgtgk¡

(c) ckcj] vdcj] gqek;w¡] “kkgtgk¡] tgk¡xhj
(d) ckcj] gqek;w¡] “kkgtgk¡] vdcj] tgk¡xhj

57. lwph I dks lwph II lss lqesfyr dhft, rFkk lwfp;ksa
ds uhps fn;s x;s dwV dk mi;ksx dj lgh mŸkj dk
p;u dhft, %

lwph I lwph II
(A) lqeUr 1- /kkfeZd ekeys
(B) vkekR; 2- jktdh; i=kpkj
(C) lfpo 3- jktLo foHkkx
(D) if.Mrjko 4- oSnsf”kd ekeys

A B C D A B C D
(a) 4 3 2 1 (b) 4 2 3 1
(c) 2 4 1 3 (d) 4 3 2 1

55. Match the following :
(A) Amir Khusro 1. Firozshah Tughlak
(B) Jiyauddin Barni 2. Iltutmish
(C) Ibnbatuta 3. Alauddin Khilji
(D) Minhaz Siraj 4. Md. Bin Tughlak

A B C D A B C D
(a) 3 1 4 2 (b) 3 2 1 4
(c) 3 4 2 1 (d) 1 2 4 3

56. What is the correct chronological order of the
Mughal rulers?
(a) Babar, Humayun, Akbar, Shahjahan,

Jahangir
(b) Babar,  Humayun, Akbar,  Jahangir,

Shahjahan
(c) Babar, Akbar, Humayun, Akbar, Shahjahan,

Jahangir
(d) Babar, Humayun, Shahjahan, Akbar,

Jahangir
57. Match the List-I with List-II and choose the

correct answers from the codes given
below :

List-I List-II
(A) Sumant 1. Religious matter
(B) Amatya 2. Official correspondence
(C) Sachiv 3. Revenue Department
(D) Panditrao 4. Foreign Affairs

A B C D A B C D
(a) 4 3 2 1 (b) 4 2 3 1

(c) 2 4 1 3 (d) 4 3 2 1
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58. 23 vDVwcj] 1940 bZ- esa pyk, x, O;fDrxr voKk
vkUnksyu esa lR;kxzg djus ds fy, fdls igyk usrk
fu;qDr fd;k x;k Fkk %

(a) ts-,y- usg:

(b) egkRek xk¡/kh

(c) vkpk;Z dìykuh

(d) fouksck Hkkos

59. eqfLye yhx us ßeqDr fnolÞ dc euk;k\

(a) f[kykQr vkanksyu dh “kq:vkr
(b) dkaxzsl eaf=eaMyksa ds bLrhQk nsus ij
(c) eqlyekuksa ds fy, iF̀kd~ fuokZpu i)fr dh

“kq:vkr gksus ij
(d) vaxzstksa ds Hkkjr NksM+us ij

60. fdlh jkT; esa de ls de fdrus fo/kkulHkk lnL;
gks ldrs gS %
(a) 60 (b) 70
(c) 80 (d) 50

61. Hkkjr dk eq[; pquko vk;qDr viuk in /kkj.k
djrk gS %
(a) 5 o’kZ rd (b) 6 o’kZ rd
(c) 60 o’kZ rd (d) 7 o’kZ rd

62. jk’Vªh; vkikrdky ds le; yksdlHkk dh vof/k dks
izFke ckj jk’Vªifr }kjk fdrus le; ds fy, c<+k;k
tk ldrk gS\
(a) rhu eghus (b) N% eghus
(c) ukS eghus (d) ckjg eghus

58. Who was the first leader appointed to lead the
Satyagrah movement  in the individual
disobedience movement launched on 23rd
October, 1940 :
(a) J. L. Nehru
(b) Mahatma Gandhi
(c) Acharya Kriplani
(d) Vinoba Bhave

59. When did Muslim League celebrated “Liberation
Day”?
(a) At the start of Khilafat movement
(b) On the resignation of Congress Ministeries
(c) On the formation of a separate electoral

council for Muslims
(d) After the British Company Quit India

60. In any state what should be the minimum number
of Legislative Assembly Members?
(a) 60 (b) 70
(c) 80 (d) 50

61. Cheif Election Commissoner of India adorns his
post for :
(a) 5 years (b) 6 years
(c) for 60 years (d) for 7 years

62. During the National Emergency period, the term
of Loksabha can be increased for how many
months by the President for 1st time?
(a) Three months (b) Six months
(c) Nine months (d) Twelve months
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63. dkSu lqesfyr ugha gS %
(a) vuqPNsn 352&jk’Vªh; vkikr

(b) vuqPNsn 356&jkT;ksa esa jk’Vªifr “kklu
(c) vuqPNsn 360&foŸkh; “kklu
(d) vuqPNsn 368&tEew d”ehj dks fo”ks’k ntkZ

64. fuEufyf[kr esa dkSu lqesfyr ugha gS\
(a) fcØhdj&jkT; ljdkj
(b) vk;dj&jkT; ljdkj
(c) ,Dlkbt M~;wVh&dsUnz ljdkj
(d) pqaxh dj&E;wfufliy dkjiksjs”ku

65. iksVZ Cys;j vofLFkr gS %

(a) mŸkjh vaMeku (b) nf{k.kh vaMeku
(c) e/; vaMeku (d) NksVk vaMeku

66. dsUnzh; pkoy vuqla/kku dsUnz dVd esa gSa vkSj ou
vuqla/kku dsUnz gS %

(a) dksydkrk (b) nsgjknwu
(c) dVd (d) gSnjkckn

67. dkSu lqesfyr ugha gS %
(a) dsoyknso vHk;kj.;&mŸkj izns”k
(b) nq/kok jk’Vªh; ikdZ&mŸkj izns”k
(c) lkfjLdk jk’Vªh; m|ku&jktLFkku
(d) fxfj jk’Vªh; m|ku&xqtjkr

68. dkSu lk vHk;kj.; Hkkjr esa ,f”k;kbZ “ksj dk ?kj gS\
(a) fxjou jk’Vªh; ikdZ
(b) dkcZsV jk’Vªh; ikdZ
(c) j.kFkEHkksj jk’Vªh; ikdZ

(d) isfj;kj jk’Vªh; ikdZ

63. Which is not correctly matched :
(a) Article 352—National Emergency
(b) Article 356—Presidents rule in states
(c) Article 360—Finance Rule
(d) Article 368—Special Status to J & K

64. Which of the following is not correctly matched?
(a) Sales tax—State Government
(b) Income tax—State Government
(c) Excise duty—Central Government
(d) Octroicess—Municipal Corporation

65. Port blair is located in :
(a) North Adman (b) South Andaman
(c) Middle Andaman (d) Little Andaman

66. Central Rice Research Institute is located at
Cuttack whereas Forest Research institute is in :
(a) Kolkata (b) Dehradun
(c) Cuttack (d) Hyderabad

67. Which is not correctly matched :
(a) Kewaladev Reseives—U.P.
(b) Dudhwa National Park—U.P.
(c) Sariska National Park—Rajasthan
(d) Giri National Forest—Gujarat

68. Which reserve is the home of Asian Lions in India :
(a) Girwar National Park
(b) Corbett National Park
(c) Ranthambhor National Park
(d) Periyar National Park
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69. fdu nks frfFk;kss ij fnu vkSj jkr cjkcj gksrs
gS\
(a) 20 ekpZ vkSj 22 flrEcj
(b) 21 ekpZ vkSj 23 flrEcj
(c) 1 ekpZ vkSj 30 flrEcj
(d) 1 flrEcj vkSj 23 ekpZ

70. fdlh fi.M dk vf/kdre Hkkj dgk¡ gksxk\
(a) fo’kqor js[kk ij
(b) /kzqoksa ij
(c) lHkh txg leku gksxk
(d) buesa ls dksbZ ugha

71. buesa ls dkSu&lk “kgj 102osa foKku dkaxzsl 2015
dk vk;kstu LFky gS\
(a) cSsxyw# (b) Hkksiky
(c) eqEcbZ (d) iwuk

72. ^̂ ekm.V foUlu** fdl egk}hi dk lcls Å¡pk ioZr gS\
(a) vaVkdZfVdk (b) la;qDr jkT; vesfjdk
(c) ;wjksi (d) vÝhdk

73. ,d dEI;wVj izksxzke dks vlsEcyh ysaXost ls e”khu
ysaXost esa ifjofrZr djrk gS %
(a) Compiler (b) Interpreter
(c) Assembler (d) dksbZ ugha

74. fdrus gksLV~l viuh lkbV ij yksdy ,fj;k usVodZ
ls izR;sd tqM+s gksrs gSa\
(a) 128 (b) 254
(c) 256 (d) 64

75. lcls /kheh Vªkalfe”ku xfr gS %
(a) Twisted-pair wire (b) Coaxial cable
(c) Fiber-optic cable (d) Microwaves

69. On which dates the day and night are of equal
duration?
(a) 20th March and 22nd September
(b) 21st March and 23rd September
(c) 1st March and 30th September
(d) 1st September and 23rd March

70. The maximum weight of anybody will be at?
(a) Equator line
(b) At the Poles
(c) Constant at all the places
(d) None of these

71. Which among the following is the venue for the
102nd Indian Science Congress-2015?
(a) Bengaluru (b) Bhopal
(c) Mumbai (d) Pune

72. The “Mount Vinson” is the highest mountain in?
(a) Antarctica (b) USA
(c) Europe (d) Africa

73. A computer program that converts assembly
language to meachine language is :
(a) Compiler (b) Interpreter
(c) Assembler (d) None

74. How many hosts are attached to each of the local
area networks at your site?
(a) 128 (b) 254
(c) 256 (d) 64

75. The slowest transmission speeds are those of :
(a) Twisted-pair wire (b) Coaxial cable
(c) Fiber-optic cable (d) Microwaves
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Directions (76-80) : In the questions, each question
has three parts labelled a, b and c. Read each sentence
to find out whether there is any error in any part, then
choose one and mark in your answer sheet. In case of
No error, you choose option ‘d’ of No error.

76. I met the man(a)/ whom I knew(b)/ is the
thief.(c)/ No error(d)

77. The situation is perilous(a)/ but if we are prepared
promptly to act(b)/ there is still one chance of
escape.(c)/ No error(d)

78. He told us(a)/ that(b)/ he has not read the
book.(c)/ No error(d)

79. Shakespeare(a)/ is greater(b)/ than any poet.(c)/
No error(d)

80. Having finished the paper early(a)/ he came out
of the hall(b)/ almost an hour before the bell
rang.(c)/ No error(d)

Directions (81-85) : In each of the questions, there is
a sentence of which some parts have been jumbled
up. You are required to rearrange them which are
labelled P, Q, R and S, to produce the correct sequence.
Choose the correct sequence and mark your answer
in answer sheet.

81. The soldier
P : decided to hold out
Q : in the fort
R : was killed
S : till the last man among them.

ENGLISH
The correct sequence is
(a) QPSR (b) PQSR
(c) QRSP (d) SRPQ

82. Her friend
P : when she saw
Q : very ill last year
R : on sheila
S : could not attend.
The correct sequence is
(a) PQRS (b) SRPQ
(c) RSPQ (d) RPQS

83. The poems and stories
P : have been taken
Q : for this book
R : from a variety of sources
S : that have been selected
The correct sequence is
(a) SQPR (b) RPQS
(c) QPSR (d) PRSQ

84. Boys are
P : on their parents
Q : in variably dependent
R : until they can earn
S : money to support themselves
The correct sequence is
(a) RSQP (b) QRSP
(c) RPQS (d) QPRS
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85. The principal said that
P : those students
Q : would not be permitted to enter
R : who do not produce
S : identity cards
The correct sequence is
(a) RSPQ (b) RPSQ
(c) PRSQ (d) SRPQ

Directions (86-90) : In this section, A passage is given
you will find a few questions each based on what is
stated or implied in the passage. First read the passage
and then answer the questions.

PASSAGE

Soil scientists have shown that the soil teems with
millions of living things, many of them useful, others
harmful. The living things which are useful include
earthworms and various kinds of bacteria. Earthworms
loosen the soil and so enable air and water to enter it.
Bacteria, which are microscopic living things break
down dead plants and animals and make humus, or
take nitrogen from the air and change it into substances
that plants use. The living things that do harm include
other bacteria and fungi which cause diseases. Other
harmful things are pests such as wire worms which
feed on the roots of grass and other plants. While the
farmer can usually keep weeds in chek by careful
cultivation, this alone may not protect his crops from
insects, pests and diseases. Nowadays, however, he is
much better able to control these enemies. He may
plant specially resistant types of seeds or he may keep

the pests and diseases in check with chemicals. With
better seeds farmers have been able to increase their
crop yields. They can grow crops that ripen more
quickly and have a stronger resistance to disease, frost
or drought.

86. Scientists who study soil believe that
(a) all insects and bacteria are harmful
(b) only microscopic living things are useful
(c) only earthworms are useful
(d) not all worms and bacteria are harmful

87. The living things that do harm
(a) break down plants and animals
(b) use up the nitrogen from the air
(c) cause diseases in the plants
(d) loosen up the soil from air and water

88. Farmers are always careful
(a) to control insects and fungi that attack plants
(b) to encourage pests in the soil
(c) to eliminat all bacteria from the soil
(d) to foster all kinds of worms in the earth

89. Nowadays it is possible to reduce the loss
(a) with the use of chemical fertilisers
(b) through the development of resistant seeds
(c) by using weeds as killers
(d) by controlling earthworms

90. The farmers today can also select seeds
(a) of slow ripening variety
(b) resistant to frost and drought
(c) for economy in costs
(d) of lower resistance to disease
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Directions (91-95) : Each question in this section
consists of a word in capital letters followed by four
words as ‘a’, ‘b’, ‘c’, and ‘d’. Select the word or phrase
which is most nearly the same in meaning as the
original word and mark the correct response in your
answer sheet.

91. ASPIRE
(a) breathe (b) stairs
(c) hope for (d) thorn

92. INDIFFERENT
(a) similar (b) various
(c) unconcerned (d) shy

93. PERPETUAL
(a) constant (b) real
(c) mistaken (d) painful

94. CONFIDENT
(a) full (b) friendly
(c) sure (d) secret

95. DEFIANCE
(a) attack (b) shyness
(c) disobedience (d) protection

Directions (96-100) : Each question consists of a word
in capital letters followed by four words as ‘a’, ‘b’,
‘c’ and ‘d’. Select the word which it nearly opposite to
the meaning of the original word and mark your cor-
rect response in your answer sheet.
96. TIMID

(a) bold (b) bashful
(c) nervous (d) soft

97. CREATE
(a) destroy (b) envy
(c) satisfy (d) begin

98. DENY
(a) curse (b) accept
(c) accuse (d) except

99. MASTER
(a) compassion (b) follower
(c) slave (d) boss

100. AFFLUENCE
(a) continuance (b) poverty
(c) diffidence (d) insurance


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1. (d) 2. (b) 3. (c) 4. (b) 5. (b) 6. (c) 7. (c) 8. (a) 9. (d) 10. (a)

11. (a) 12. (a) 13. (a) 14. (d) 15. (a) 16. (d) 17. (a) 18. (a) 19. (c) 20. (d)

21. (d) 22. (b) 23. (d) 24. (b) 25. (d) 26. (d) 27. (b) 28. (a) 29. (b) 30. (d)

31. (d) 32. (c) 33. (b) 34. (b) 35. (b) 36. (b) 37. (d) 38. (a) 39. (c) 40. (c)

41. (c) 42. (c) 43. (c) 44. (a) 45. (b) 46. (c) 47. (d) 48. (c) 49. (c) 50. (a)

51. (a) 52. (a) 53. (d) 54. (c) 55. (a) 56. (b) 57. (a) 58. (d) 59. (b) 60. (a)

61. (b) 62. (b) 63. (d) 64. (b) 65. (b) 66. (b) 67. (a) 68. (a) 69. (b) 70. (b)

71. (c) 72. (a) 73. (c) 74. (b) 75. (a) 76. (b) 77. (c) 78. (c) 79. (c) 80. (c)

81. (b) 82. (b) 83. (d) 84. (d) 85. (c) 86. (d) 87. (c) 88. (a) 89. (b) 90. (b)

91. (c) 92. (a) 93. (a) 94. (c) 95. (c) 96. (a) 97. (a) 98. (b) 99. (c) 100. (b)

ANSWER KEY
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